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He agrees with the virtuous ones — PPYNIXD IART RIT

OVERVIEW

%"9 maintains that the "M '7 2117 is only if the 77°2m amPav took place before the
owners were WX n; however after the owners are WX™n, the 213 acquires the animal
and it is 72w X177 2w 720 X7 19w, It was necessary for 5" to establish the Xn»13,
which states that if w727 213 he does not pay '™M '7, in a case where the owner was
w>7pn the animal while in possession of the 211" The 87n3 explained the %" agrees
with the” P11 who were %9mn the m*0,” which passersby took, even though it was
already in the mw~ of those passersby who are 01973, similarly by wpi the o°9v2
can be w>7pn even though it is 17137 Mwn2. Our MoOIN discusses the appropriateness
of comparing the case of 711X with our case of w7pi by the 'm '7.

Mmoo asks:
= YIN? 9NN GN 1P99N1 01N NN 9NN ON)
And if you will say; but the 2>¥11% redeem the °v¥217 075 even after 2N3; moon
proves that this 217’11 took place after vIX° -
- 411)’}:\’) 9297 19295 DYy WIN? N NA%N) OND NNT
For generally 72713 is considered av%y2 wIN> as the 3329, who argue with @',
rule -
- 553p N9 WINGT PYNY 9207 19 ON
Therefore the 1Y% must maintains that 2I8° (alone) is not 72 -
- S13YD WINY 9207 WINYD ANR WITPAY 9199 PNRT AN WIPY WY

' The Xn>»12 is W *39 and the only reason the 213 is Mo from ' '7 is because the 2°7¥2 were w7pn; otherwise the

213 would be "M 12 21 since it is YR 2197,

? The 1y1% had vineyards that were *y21 273 (the fourth year of growth) where it is not permitted to be eaten as is,

but must be (redeemed and the money) taken to 0°2217° and eaten there (like "1 wvyn). However, passersby would

pick the fruit (illegally) and eat it (transgressing both on {12°1% M10°X and °v27). In order to prevent them from

transgressing the °v27 MoK, the 1¥11¥ would place aside money and designate it as redemption for the fruits the

passersby would take and eat.

? Otherwise how can the 2*%¥a be w>7pn the animal (according to ") while it is not 1mwa (but rather 1917 MwI2);

this is contrary to the ruling of >3 that 2°5v277 WX>n1 871 713 both of them cannot be w>7pn the stolen item.

* See the xm3 previously on X,10, which cites a 73wn that states a NpY>n» between the 1321 and w"2 whether 72°33 ono

is assumed to be 0°%¥2 WX (the view of the 13127) or whether 2°%v2 WX 72°12 onO (the view of w"7).

SIf wine is 7P, then the passersby own the fruit (and not the Py1Y), so how can the 1°311¥ by 99mn the fruit when it is

not theirs. [If we will assume that the Py1¥ maintain that one can be %7mn even if *1p ¥R and it belongs to the

passersby, then 2"1 can certainly not agree with the 1°91¥ and derive his ruling from theirs because if the other

person is 71p the item everyone agrees that no one else can be w>7pn it.]

% Moo question is how can the Xn3 answer that " agrees with the ¥1% (that one can be w>7pn something which

is 1Mw2 X7w), when obviously "1 (who maintains *1p @ [and therefore wIX> 2nR> there is no 'm "7 20, since W
1
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However %''% admits that the owners cannot be wsTp» after 2> for 9"
maintains that 7217 2IN°!

mooIN anticipates a possible answer:
= IND ONYVPY ON DIV DIINY Nyt XYY YIND N7 NI 99

And if you will say, that in the case of the Py it is considered nyT» K@ 2N,

since the 711X are not aware if passersby gathered the grapes or not, so therefore
this wX> is not 1p. Therefore "1 and the 1°¥11% can agree that 723 VIR’ -

mooIn rejects this answer that it is considered Ny X7W WIR>:
= (oW 3,39 97 X80 x33) HINIYM 1IN 13799N NPT 2999 232) NN

For we learnt in nx>3» X 19, regarding the dates that fall to the ground on
account of the wind -

- YT YING WA SNt snrawe &
That since it is common that they fall, it is considered ny7Tn wIN°.

moon answers and distinguishes between the windblown dates and the grapes of the 1P¥1x:
= ©°9¥2N 19 OINIOY VPV NN 710 NYIY XY NINT 9D U»

And one can say; that here by the 7y11X it is not that common that the passersby

will pick the grapes, for they fear the owners will see them -
— TRyt RIY YINS 2UNY XPIT 9909 597 N9

And it is not like by the case of the windblown dates, so therefore by the grapes

it is considered nyT» XYW WINY; however by regular ¥X° the PyuX agree with "1 that WX’
*1p; we can now conclude the 5" agrees with the 1°311%.

Mmoo broadens the scope of his answer:

naw R17]) cannot agree with the Py (who maintain *3p X2 WX [see footnote # 5]). See ‘Thinking it over’.
7 ny X9w W means if a person is unaware that he lost an item, however had he known that he lost it he certainly
would have abandoned any hope of retrieving it (), this is called nyT» X>w WX since the reason he was not
wX»nn is because he is unaware of his lost. According to »ax (and this is the 75%7) the rule is nyT» K7W VIR is not
considered wX°. In our case the 111X are unaware whether anyone picked their fruit (had they been aware they
would be wx» [since 72°13 ano is 2°%ya WIR’]). Therefore since WR> 177 RS nvTn Xow WXy, the 1yIx are still the
owners and can be 991 (so they too agree with 2" that X is 7P, however here there was no real ¥R only 2’
Ny ROW).
¥ The passersby may take the fallen dates since the owner knows that it is common for dates to fall off the tree, it is
considered that he was wX»» from these dates (since he realizes that the dates will be eaten by insects and vermin),
and it is not considered ny7n R7w WIX* even though he does not know specifically that this date fell. Similarly here by
the 1P¥11X since the owners are aware that passersby will pick some grapes it is considered a proper x> and not X
nyTn X7w. The question remains it seems that the PY1IY maintains that >p X7 wX° and "1 maintains *1p WO
? It is considered ny7n Xow WIX° since it is not common for passersby to take the fruit, however the P¥1% were extra
careful and they set aside money for 2171 in the unlikely event that someone will take.
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- YINY 91 NPT RIY YIRS 9NRT XD 199N)

And even according to the one who maintains" w> "7 nyTa NOw W,
nevertheless we can reconcile "1 with the Pz, for -
- Pobya wind 57 RY 13233 ON0T N1 Z)uny 1399 59320 PNt 9129109 XN

We can say that the }°»1x agree with w''% who maintains that a 72513 generally
is not considered 2752 RN,

In summation: both "7 and the 1¥11¥ maintain that >3p wIX>. The reason the owners can be 57nn
the *¥27 075 (according to the 3127 who maintain 2°%v2 WIX* 72°13 ONDO) is because here it was a
Ny XOW WK (for the owner assumed no one would steal the grapes out of fear of being caught),
and it is not considered a wX°. Alternately even if we maintain WIX* "7 n¥7 ROV WX they still
can be 99nn the grapes because the Py agree with w" that wIR> 17 X7 172°23 ono.

nvoIn asks:
- 14\’)"1‘,7115 9199 99 99%aN AV N9 HHNY D192 MY DITINYD WTPN 11712 957 MINN ON)

And if you will say; but how can the X2 compare 2P to 9191, saying that
just as one can be ®»r% that which is in the possession of his friend (the case of

the 1¥11%) so too one can be wW>TP» what is in the possession of his friend (the case of the

XN 12 of "M 7). MvoIn develops his question:
- By99an v VAP HONY 9159 19530 HYW M9 VITPNID D152 PRY 99 DY OGN NI

For is it not so that even though one cannot be w>7p» his friend’s ny9p,

nevertheless he could redeem his friends wTP:7; noon proves this -
- Y15 11937 DU 03T NUITD IR INIRDT (4o 91 mna) N2 UKD WA ¥NRUNTI

19 This is 821 who argues with »ax (see footnote # 7) and maintains wIX> 77 YT ROW WINO.
" According to this opinion even if we maintain that by the T¥1% it was a Ny X9w WX, nevertheless it would seem
that the V1% maintain *1p X2 ¥R (disagreeing with 5"9), for since it was a nyTn R2W WX it is a proper WWR° and
nevertheless the 1°91¥ maintain that the 2°2y2 (who were [nyTn XPw] wX>n) can still be 97ma the m7; proving that
1P R WIN.
12 See footnote # 4.
B The 7YX can be 9omn the grapes since there was no W at all for (according to w"1 [and the 7°911¥]) we maintain
0°%Y2 WIR "1 K2 72°13 anY, and this (by the 1°311x) is a case of 72213 (not 77°13).
' The X3 explained that according to 9" the 2*%¥2 of the animal can be w>7pn the animal (W *19%) which is in the
possession of the 213, since we find by the 1¥1¥ that they could be 99nn the grapes which are in the possession of the
passersby. mooN argues that we cannot compare wTps to 2177m!
' Therefore we can also distinguish between 21°1 of something which is 1Mw72 X (the case of Pyux) which is
valid and the case of w>7pn something which is 1mwa2 1°X (the case of 9"1) where it is not valid.
'® The xm3 there is discussing the believability of an X"y. The X2 says that one person is believed to say that w7pn
was redeemed, so we can derive from there that an X"¥ is jaX1. The X713 challenges this assumption, and says if it is
o°n7 Nw17p then he is believed because it is 17°2 to redeem it (but we cannot derive that an X"V is believed even if it is
not 17°2) and if it is 77 nW17P (where the owner claims he retracted the w7pi), then let us see; if he made the nw1Tp
7137, ete. (it is 17°2 to retract it, and if someone else make the 7137 NP perhaps he is indeed not aX3).
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As it seems in the beginning of 1739 WX 275 where the X773 states if it is nwTp
27, it is because he is capable of redeeming it -

- Y5930y nrre 13 PIYIN PN DINT NWITPAT YNRWN 915 NI IN ”mm nYYTP N
And if it is 2°»7 pw7R it depends if it his, etc. It appears that by as»T nuwTp
there is no difference whether it is his or his friends, that in all cases he may redeem
it. It is evident that redeeming is more leniently applicable than w7p?, for one can be w>7pn only
his own, while one can redeem even his friend’s. The question is how can 9" claim that just as
the 1y1X can redeem something which is not in their possession, similarly one can be w*7pn
something which is not in his possession; we cannot compare the two, since 2771 is less
restrictive than wps.

mooIn answers, distinguishing between 712°11 of WP and 212°1 of *ya7 o73:
= M7 N9T 9D U

And one can say; that *va1 075 7%°1 is not similar to wpn 5120,

- 9NN 19 199 INTEY Y12 DIYYANY 19) DOYYA MY N WIINY INNND VTN
For regarding w7pn once it became w7pn it leaves the domain of the owners
(and it now belongs to wp), and just as the owners can redeem this wpH,

similarly others can also redeem the wpn. The status of the original owner and a stranger
are the same with regards to this w7pi, which belongs to neither of them.

— Pshwinra NYMINY BINDT DYYYAN S¥AT B9 YaN
However regarding >v27 27> the owners have the right to eat it in 2°5217°; he
has rights in the °¥27 075 (others may not take it without the owner’s permission).

In summation: regarding wpn there is a leniency in WP 712°1 in comparison to being w>7pn; one
can be w7pn only if it is his, but one can be 779 another’s w7pi (because once it is WpH it
belongs to neither of them so they both can be 779 equally); however regarding the 71%°11 of 073
*¥27 it is stricter than w7Pn N9 and only the owner can be *v27 012 Y711, since it always belongs

" o7 nwrTR — a holiness of money — refers to items a person is w*Tp» which cannot be brought on the mam. Its 7w1Tp
is limited to its value. w7pi1 will sell this item and use the money for whatever purposes it needs.
18 77 N7 — a holiness of the body — refers to items which can be brought on the nam; an animal for a 127p or
wheat for N, etc.
' The X3 made a distinction between his wpi and his friend’s w7pn only in regards to 7137 nW17P, however it made
no distinction regarding his ability to redeem, between his w7pi and his friend’s w7pn; indicating that one may
redeem his friend’s w7pn.
20 mpon rejects his previous assumption that by *v21 273 anyone can redeem it, rather now Mo maintains that by
"¥17 072 it cannot be redeemed only by the initial owner (not like w7pi 1175 [but like being w>7pn, where only the
owner can be w>7pn something]). Therefore if the 1°¥11¥ would maintain that one cannot be w>7p»n something which
he owns, but is in the possession of a stranger, the 1¥11¥ would also agree that the owners cannot redeem °¥27 072
either, if it is not in the possession of the owners (for redeeming °v217 072 is just like being wWIpn wW>7pn); since
however the 1¥1X maintain that the °¥27 073 may be redeemed by the owners even if the fruit is not in their
possession, we can also apply it to wTps that the 2°9v2 can be w>7pn it even if it is not in their possession.
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to the 0°%v2, therefore the rules of w7 and of *¥27 075 71%°11 can be derived from each other.!

mooIn asks: >
= 99%21 YV %Y TYYN Y9NY 9999 Y91 NN 9NN ON)

And if you will say; nevertheless we find that one can redeem his friend’s
w'yn -

= (0w Pa,m 97 pwrtp) YT YIND 2991 19999NT

For there is a mawn cited in wTp» WINRA PID regarding *3w wyn myn;**

- 9 AUYN MYNN MYPIPI ©373Y NPV NNNA PHPIY PN

One may not buy an unclean animal, slaves and land® from the money of
w'yn -

- 229591993 11239 YN NPY ON)

And if he bought it, he (the buyer of the nxnv fnn3, etc.) should eat their

equivalent in 275w -
- 2999107 W MY PYINA RNYR NIAWS 23U 71019105 03197 19103 NN 72999

And the X723 asks; why do we require this process, let the money return to its
source? And the X3 answered, that the seller ran away.” It is evident that we
can redeem the money which is in the seller’s possession!

! One cannot be w>7pn anything which belongs to someone else and one cannot be %% the *¥27 073 of someone
else. This assumption is critical in order to derive w7p71 from >v27 073 217°m.
** mooin ruled regarding an item which requires redemption, if this item belongs to the owner (like *¥27 273), only
the owner can redeem it. This assumption is necessary to explain how we can compare w7p7 to 1172 (that in both
these cases only the owner can act). N1901n now will ask a series of questions which challenges this assumption.
* mooin is seemingly referring to the 7w cited on X,
* On the first, second, fourth and fifth year of v nw, after one removed the 7170 (for the 372) and Nwyn wyn (for
the "1?), one must take a tenth from the remaining produce and designate it as w"vn, and it needs to be eaten in
ooy, If it is too difficult to bring the produce to 2°2w17°, one can redeem the produce with money and bring the
money to 27w, In 25w he is to purchase food with this w"vn my» to be eaten in 222w
* These are not edible items.
% 1 et us assume that 7297 bought from Nynw a XY 72 with the w"yn myn worth one hundred 15. The hundred 11
that 1'vnw (the seller) has in his possession is still w"v» myn since there was no valid redemption (the w"vn myn was
not used to buy edible items). The rule is that 12%7 (the buyer) must lay out an additional hundred 111, proclaim that
with this money he is redeeming the w"v» nyn that ynw has, so now the w"y» myn nTp is transferred back to the
money held by 72187, and 21 is required to buy one hundred 11 of edible items to be eaten in 2°9w1.
7T Let 1vnw (the seller) return the money to 721X7 (and 72187 will return his purchase).
% moon previously asserted that by *ya7 012 912°m, only the owner can redeem it; however here by w"v», which has
the same rule as *v27 073 (the owner exclusively has the right to eat it in 2°217), and nevertheless 12187 (who is not
the owner of the w"v»n myn anymore [for he purchased the 7Xnv mnia with it]), can be 7771 the w"vn myn which
belongs to 1Wwnw, just as one can be 779 another’s w7pi. This seemingly disproves noon assertion that *v27 013 717°0
(or w"vn) is different from wp7 7721,
* It was necessary to mention this detail (772w5), for otherwise we may have assumed that the buyer redeems it with
the consent of seller (which would prove nothing), however now that we establish the case 172w>, the seller is not
here, so he redeems it without the consent of the seller (owner).
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MDDIN answers:
- %2 900 APPA MN N3 XY INT YT 9 5N ONNT I YN

And one can say; that there by w"yn :1%°1, the seller is (not like an owner, but
rather) like a robber, for if the seller did not run away, the sale would be

reversed, so this is not a case where one is 779 another’s w"y», but rather -
= N2NT )PVIND 315557 IWNMI N9 913 999 99

It is like the case where one robbed and the owners were not wX»», and like
the PYux case cited here.

mooIn offers an alternate explanation:

- NONDN TN 0NN YPYN 19 Pxnvya XoIp onn Py ox
Or you may also say; there by w"v» it is merely a fine that he is required ‘to eat
the equivalent in 2°%217*’, and it is so indicated from the >3 there.

In summation: regarding one who sold inedible items for w"yn NMyn, we can either assume that he
is not considered the owner of this money ([but rather like a 1713] since he is required to return it
and invalidate the sale), and therefore the original owner of the w"v»n myn can redeem the nwn
v"yn that is in the possession of the seller, or we may consider him the owner and indeed the
buyer cannot actually redeem the w"yn mvn», however the o°»om, as a fine, required him to ‘go
through the motion” and eat the value of the w"yn in 2>5uw.

mooin explores further this issue of redeeming items which belong to other people:
= YNYN (0w x,05 97 1mo) IRIN 29I P92 11919

However from the X723 in 9137 29 P99 it seems -
= INY1I XYY 19N by 345‘””’3\’) M99 ["11] HYHNY 01N DIaY

That one can redeem the money of his friend’s nwsaw n» without his
friend’s knowledge -

%0 If nwmw were present, he would be required to nullify this illegal sale and return the w"v» nwn to J2X7. See
footnote # 26 & 27.
319" and the Py1x are both discussing a case where there is a legal owner; however the item is in the possession of
an illegal owner. They both maintain that the w7pn and 272°n1 (respectively) are valid. The same case is by w"vn. The
original and current legal owner (J21X7) is being 771 his w"v» which is illegally in the possession of 1wnw (the
seller).
2 mooIn may be dissatisfied with the previous answer that it is not the seller’s money, since in fact as long as the
sale was not invalidated, the money belongs to the seller.
¥ According to this answer the original owner (121%7) cannot redeem the "y my» which is in the possession of
1ynw (the seller), since Py»w is the owner and one cannot redeem the ¥w"y»n (or °¥27 072) of another. However the
oon fined 727 (the buyer) for buying inedible items with his w"yn nwn, and required of him to go through the
process and buy edible items in 2°9w17°, even though in truth no actual redemption takes place.
** The rule regarding n°y>aw M2 is that it is 77 NX 091N Meaning that if one sold n°»>aw M5, the money the seller
receives retains the n°v°2w NP and the nN°¥°2w M°d which were sold remain with the n°¥°2w nwTp. See 2,7 17910.
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- Ty nyo wow Pian A YN 0uY Fmway m9r9 mT P90 PR NOINT
For we learnt in a Xn»>92 that one may not deliver to an Y987 2¥ money, which

has the 7217P of n¥wsaw N5, more than the worth of three meals -
- 5592 7903 55 WrY M9 YY 1PYINN 199N MY 290 N 991 BN

But if he gave the 17"¥ more than Mo '3 1, the giver should say, ‘these monies
of n°vaw, which I gave to the 7"y should be redeemed on the produce which I

have in my house’
— YAV NYINI 199N NI

And the owner of these M7’ comes and eats them in accordance with the laws

of Ny 2w, This contradicts Mo assumption that only the owner can redeem.

N1B0IN answers:
- %93 8NP XYW 275 PYIND Y MW 1339 17 PANT 9129 U

And one can say; that the 3339 removed the n°y°2w nv» from the possession of

the "'y in order that the 171"Y should not be ensnared in the n°v>aw M0°R of RYY 799K

N0 -
- Y9591 151 1192 99977 YINY 9I199Y DT MY INPNRPIN

And the 7127 placed this n°v°2w myn (which is physically in the possession of the
7"v) into this one’s (the person who erroneously gave it to the 7"¥) domain to
enable him to redeem the n°y°2w nv» which is 7"y MwN2), the 13127 were able to
effect this transfer since 2?57 7''92 “po.

In summation: This rule of not being able to be 97nn another’s property applies to n°y>aw as well,

3 pyraw Mo, fruit that grew on N°v°aw, may be eaten but are not to be used for commerce. One may redeem M7’
n°y 2w for money and the n°y 2w nw1Tp is transferred to the money; the money then can be used only to purchase
food to eat, but not for commerce, this is referred to as 707 R?1 729K5. See 1,73 (7712) R,
3% The o*am were concerned that the 7"y will use this money for commerce.
7 1f it is only enough to purchase three meals (at most) we allow it to be given to an 1"y, for we assume he will buy
with this money the three m7wo for naw.
¥ The 7w1Tp of Nv*aw, which is on the money that is in the possession (and ownership) of the 1"y is transferred to
the Mo of the giver, so the money becomes 1211 and the m°d take on n°¥°aw nw1Tp. It may be assumed that the
ny 2w myn which is in the possession of the i1"¥ belongs to him and nevertheless another may redeem it. This
contradicts MO assumption that (except for w7pi7) one cannot redeem anything which is owned by another (like
Y27 010 ,w"yn and noyUow).
¥ mooin answer is that indeed one cannot be my»aw o (or w"vm *va1 013) which belongs to someone else.
However here the 051 made an exception (through 7577 "2 7p57) to allow the n°y 2w myn which is 7"y Mw"1 to
be redeemed by another, in order to protect the 7"V so he will not transgress the prohibition of 77107 X2 775K5.
*'We are concerned that the 7"y will use this money 7Mo% which is prohibited.
1 9"s1 has the power to appropriate property which belongs to one person and assign it to another. Here too 7"2
removes the ownership of these n°¥aw myn from the 7"y and grants the 95nn the ownership. He is therefore being
Y9nn his own n°y 2w myn, not those of the 7"v.
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with the proviso that if someone gives an n°v>aw mvn 7"y, the giver can be 97nn, for the o,
through 7"™2 9pon, will transfer the ownership to the 9%nn in order to prevent the 7"y from
transgressing N°y°2w MOX.

mooIn asks:
= YNRYN (hman Hrnnnn 107 0w 8,80 97 $119122T RIAP 99937 AYP 1N

However there is a difficulty; for it is seems from the X723 in the first pap of

M52 Noon -
= Byny T N9Y 199X 179 1919719 19230 v Z9nn 09 AnanT

That one who redeems his friend’s =2v2n 2vp, the redemption is valid, even

without the knowledge of the owner; we know that he can be 7719 even 1NyTA X -
- DOoYaY 79 1179 NIYTIN N1IY 2179 19979 NPT *yaTh)

Since the X3 there queried; this redeemed - is it redeemed for the
redeemer, (does the 779 acquire ownership of this 71nm), or perhaps this

redemption is redeemed for the owner (the owner receives the 7mm). This concludes the
X713, NM5OIN continues with his proof -
= ©°9¥25 79 19797 NN NN OYYYA NYT ON)

And if the redemption can only be done @%®y2 ny7a», it would seemingly be

obvious that the redemption is for the owner. This proves that one can be 7715 even
0°%v2 Ny X9w. The question is how can one be 1715 something which belongs to another!

N1B0IN answers:
- %ANIN2 MONT 11997 5929 ©I9Y T XY INN 09T UMY Y

And one can say; that 2n 9up is not similar to ¥39 295 (or n°y 2wy w'"vn), for

since a 77 VD IS IRIT2 NIOR before 75 -
- Y15 BTN Y3 9195w Nt 13y T 19 9N

It is like w7p regarding this ruling that anyone can be 7779 it -
= 19D %79 139197 10 RVIWD YTPNAT WIPND 1N UNN KD

However it is not completely like w1, for by w7ps it is obvious to us that it

2 A wan 7o is the first born donkey. One needs to either redeem it with a sheep (to be given to a 1712), or is required
to chop off its neck (see 2,3 [R2] Mnw).
“If he can only be 2°%v2 nyn 1779, there would be no question, for then the 779 is a m>w of the o°7¥y2 and it is
understood that he can be 775 for the owner. Mmoo (for his question) will prove that he can be 7712 even Ny K7W
0°2y3, so therefore N1DOIN has a valid question.
# See the X3 there that the 1137 (who argue with ¥") maintain that a 71717 792 is ARII2 MOX.
* mooin previously explained that by w7pi anyone can redeem it, because once it is w7p it does not belong to the
w>7pn, therefore all are equal regarding its redemption. 71117 79 is (somewhat) similar to w7pi. There is an ARI7 0K
on this Mnn, therefore it cannot practically be considered as belonging to its owner (since he is forbidden to derive
any benefit from it).
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belongs to whoever redeems the wps -
- @5yaY 51794 195901 NN 1093

But by 211 2up the X3 concludes that the redeemed 1111 belongs to the 2v9ya.

In summation; a 2n Tvd may be redeemed by others (even 2°9v2 nyn ROW), for since it is MOX
TRIT2 it is somewhat similar to WTP7 (meaning it does not (entirely) belong to the original
owner).

mooin asks (a final question):
= 99onY HHS WP 1 99507 NN 927909

However it is something astonishing; for how can we at all compare w777 to
B9 -

= INYTN NIY 19530 DY Y AWYNI s¥a9 oI HoNY Yoy XY Nnd1
For why should not one be able to be redeem his friend’s sy29 yu1 or "W wy»

without his knowledge -
- 715308 NYW DINY 19911 99 XID MY 199

Since it is advantageous for the owner (of the *v271 075 and ¥"v» to have them
redeemed), so the rule is that 19192 K2 27R> 927 —

Mmoo anticipates a difficulty:
= 99520 YV DY 1YUN ONND (3,09 97 A1) TN 172 PPN 1Y S¥ANT NN

For this which we queried in 97177 P2 1°R 275, one who separates 72190 from

his own produce for his friend’s produce -

= IND IN DY7¥2 NYT o9
Does it require the knowledge of the owner or not; seemingly indicating that even
though it is a M>7 for him to have 7170 separated for him at no cost, nevertheless there is a query
if this is permitted, so perhaps this same query applies her to *¥27 075 —

mooIn responds:
= 119399193 NINM TaYNY 159 NN RNDTT ONN 9INPT NHYL 139N

The reason why there is a query in the case of 7m0 is as the X7n) states there,
for perhaps the owner would rather perform the 3% of separating 72170 with

% Technically, the 7m0 7vo belongs to the owner, however since it is AX372 MoK this ownership has no practical
application therefore anyone can redeem it (like w7p7). However once it is redeemed and has value it belongs to the
owner (not like w7pn which [once it becomes w7pi] leaves the owner’s domain entirely)

*" One may act on behalf of another (regarding acquisitions and other matters) if it is beneficial for the recipient.
Here too it is beneficial for the owner of *¥27 and w"v» to have them redeemed, which will allow him to eat the
produce outside 2°9w1 (and the redeemer will have to bring the money [used for the redemption] to [be spent in]
OU).
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his money (not with someone else’s money; therefore it may not be a nr) -
= 990 XD IANIYW NNM 09¥AN DN IIINIY DIVPINY DNHY 2V PPN D) XIN YaN

However here (by the 7¥1X) is it not preferable for the gatherers that the
owners should redeem the °vy27 070, rather than they should eat the °v27 07>

without »9°11?! Here it is obviously only a n137 for them (for they have no intention of being
9%nn the *¥27 073), so therefore one can certainly redeem it since 278> 121; how can 9" derive
from here that one may be v>7pn something which is not 1nw"2 (which is no m>r at all to the one
who is in possession of this item)?! Mmoo does not answer this question.*®

In summation: maoIn final question is that even though one may be %%rn the *va1 075 of the
wopn since it is a M27 for them, we cannot derive from here that one can be w>7pn something
which is Ymwa2 85w (since it is not a 21 for them).

S[9PPPN SNNNN MA%T K, PYITH MODIN 193]

SUMMARY

The 7°¥11% and "1 maintain °1p wX°. The case of 7YX is a NYTN K7W WIR® situation.
Only w7pi can be redeemed by anyone; other items requiring redemption (such as
nyaw ,w"vn ,°va7 072) need to be redeemed by the original owner (except under
certain circumstances). It is not clear why another cannot redeem these items on
account of 1192 XYW Q7R 1o

THINKING IT OVER

mooin asks how can the X3 answer that "1 agrees with the Pyux, since 9"
maintains 737 WX and the PY¥1IY must maintain 73p X2 X" Seemingly we can
answer this by saying that even though "1 and the Pyux disagree whether *1p WX
or not, nevertheless "9 maintains that just like the 1°»71% maintain that they can be
o%nn the *va7 012 (even after WIR®) even though it is not in his possession (since
1P X7 WIRY), similarly according to "9 the owner can be w>7pn the animal (before
wX°) even though it is not in his possession (since there was no 2!’

% See 7PN 7"7 8,1 PWITR Moo that the Py cannot be 757 for the o°vpYn since the o%wphn are robbers, which
invalidates them from redeeming the *v27 073, so they cannot make a "?w to redeem it for them, therefore the iy
cannot either redeem it for them 721 avvn (if we assume that 73937 is MPYW avvn). See X"WIn and 7207 *WHDH XN
#121-126..
4 See footnote # 6.
0 See TN wIon XN # 71.
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